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1. When a company president states: "Our company will achieve annual sales of
$66 million within three years,” this is an example of; A) = a mission. B) arule.
C) along-range objective. D} a strategy.

HII

2. Creativity is an example of which one of Maslow's needs?
A) Self-actualization B) Esteem C) Social D) Safety

3. Which of the following types of power is based on the capacity of the manager to
provide results desired by subordinates?
A) Coercive power B) Referent power C) Rewardpower D) None of
the above

A 4. The idea that mental effort during work is as natural as play is a basic assumption
in:  A) TheoryX. B) TheoryY. C) TheoryZ. D) TheoryA.

5. When members of a group are unwilling to disagree with other members even
when they feel that these other members are wrong in their recommendations, we
say that the group is experiencing:

A) the idiosyncrasy effect. B) the Chandler effect. C) groupthink. D)
the Hawthorne effect.

6. McDonald's Corporation made a basic decision as to how to divide the tasks of
the jobs of "chefs" and "food servers" in its restaurants.  This was an example of:
A) continunons-process technology. B) job design. C)  divisional structure.
D) product structure. E) matrix structure.

7. The actions taken to meet the needs of customers are known as:  A) efficiency.
B} quality. C€) TQM. D) quality control, E) responsiveness.

8. The person who inspires, motivates, and directs the activities of others so that
they work toward organizational goals is known as a(n):



A) follower. B) leadership substitute. C) coercive leader.
D) leader. E) manager.

9. What are the four basic managerial functions? (A) Planning, Analysis, Design,
and Implementing. (B) Production, Marketing, Finance, and Personnel. (C)
Planning, Organizing, Leading, and Controlling. (D) Diagnostic, Action,
Monitoring, and Decision.

10. Which of the following is not one of Taylor’s principles of management? (A)
* Develop a common vision for workers and managers (B) Divide work and
responsibilities clearly and evenly among workers (C) Put emphasis on the
training of workers (D) Scientifically study jobs and make decisions
accordingly.

11.BMW advertisings lately emphasize the company’s cars being subjected to crash
tests, and create the impression the BMWs are the safest cars around the globe.
‘What competitive business strategy does this example represent? (A) Overall
cost reduction (B) Successful leadership (C) Focus (D) Analyzer.

12. According to Maslow’s need categories, which are the needs for friendship? (A)
Physiological needs (B) Security needs (C) Social needs (D) Esteem needs.

13. Putting employecs of similar or related specialties into a department is a: (A)
simple structure. (B) fumctional structure. (C) divisional structure. (D)
conglomerate structure.

14. A Theory X employee would: (A) seek responsibility. (B) need to be ‘pushed_ to
achieve goals. (C) view work as an important activity. (D) exercise

self-control.

15.1n the area of marketing, a small company has the advantage over a large
company at: (A} lower production cost, (B) personalized service. (C) effective
selling program. (D) effective inventory controls,
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1. Most students attending college pay tuition and are unable to hold a full-time job.

For these students, tuition is ,

(A) part of the opportunity cost of going to college. So are their forgone earnings
from not holding a full-time job.

(B) part of the opportunity cost of going to college. Their forgone earnings from not
holding a fuil-time job are not part of the opportunity cost of attending college.

(C) not part of the opportunity cost of going to college, but their forgone earnings
from not holding a full-time job are part of the opportunity cost of attending
college.

(D) not part of the opportunity cost of going to college. Neither are their forgone
earnings from not holding a full-time job.

H 1

2. The production possibilities frontier shifts if

(A} the unemployment rate falls.

(B) people decide they want more of one good and less of another.
(C) the prices of the goods and services produced rise.

(D) the resources available to the nation change.

3. People come to expect that the price of a gallon of gasoline will rise next week.
As a result, :

(A) today's supply of gasoline increases.

(B) today's demand for gasoline increases.

(C) the price of a gallon of gasoline falls today.

(D) next week's supply of gasoline decreases.

4. Nick can purchase each milkshake for $2. For the first milkshake purchased Nick
is willing to pay $4, for the second milkshake $3, for the third milkshake $2 and
for the fourth milkshake $1. What is the value of Nick's consumer surplus?




(A) $2
(B) $9
(©)$3 _
10
D)3 =2

5. As time passes after an increase in the demand for apartments, if there are no rent
controls then there will be

(A) increased investment in buildings, which reduces the original rise in rents.

(B) increased investment in buildings, which offsets the original fall in rents.

(C) decreased investment in buildings, which increases the original rise in rents.

(D) decreased investment in buildings, which further lowers the originat fall in rents.

6. Let MU, and MUy, stand for the marginal utilities of apples and bagels. Let P, and
Py, stand for their prices. The general necessary condition for consumer '
equilibrium is

(A) MU, = MUk

(B) MU, = MU, and P, =P,

(C) MU,/P, = MUy/Py,.

(D) MU/MU; = Py/P,.

7. Preferences depend on

(A) income but not relative prices.
(B) relative prices but not income.
(C) neither relative prices nor income.
(D) both relative prices and income.

8. The law of diminishing returns implies that, with the use of capital fixed, as the
use of labor rises, .

(A) total product will fall eventually.

(B) the marginal product of labor will fall eventually.

(C) the total product of labor will fall below the marginal product of labor.

(D) the production process will become technologically inefficient eventually.

9. In the short run, a perfectly competitive firm NEVER




(A) earns an economic profit.

(B) incurs a loss greater than its total fixed costs.
{C) produces where MR = MC.

(D) earns a normal profit,

10. For a single-price monopolist,

(A)MR =P

(B) MR <P.

(C) MR first increases and then decreases with the quantity sold.
(D) MR first decreases and then increases with the quantity sold.

11. Stagflation occurs when the price level(A) falls and real GDP increases. (B) and
real GDP both decrease. (C) rises and real GDP decreases. (D) and real GDP both
increase. _

12. An increase in the expected inflation rate shifts the (A) short-run Phillips curve
downward. (B) short-run Phillips curve upward. (C) long-run Phillips curve
downward. (D) long-run Phillips curve upward.

13. Suppose the tax rate on interest income is 50 percent, the real interest rate is 2
percent, and the inflation rate is 4 percent. In this case , the real after-tax interest
rate is (A)-0.5 percent. (B)-1.0 percent. (C)3.0 percent. (D)6.0 percent.

14. Which of the following statements best describes the rational exbectations
hypothesis? (A) individuals will not enter into long-term agreements unless they
are certain about the payments they will receive (B) it is likely that individuals
will consistently make errors (C) individuals will make random errors,
independent of previous errors (D) it is reasonable to expect individuals to
consistently underestimate the level of inflation

15.If there is a strong possibility that the dollar price of the RMB will rise in the
next few months, which of the following would we expect to happen right now in
the market for RMB? (A) & leftward shift of the demand curve, a rightward shift
of the supply curve, and a depreciation of the RMB (B) a leftward shift of the
demand curve, a leftward shift of the supply curve, and a depreciation of the
RMB (C) a rightward shift of the demand curve, a rightward shift of the supply
curve, and an appreciation of the RMB (D) a rightward shift of the demand curve,
a leftward shift of the supply curve, and an appreciation of the RMB
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L.Mr. A derives utility from martinis in proportion to the number he drinks,

U(M )= M . Mr. A is very particular about his martinis, however: He only enjoys
them made in the exact proportion of two parts gin (G) to one part vermouth (V).
Graph Mr. A’s indifference curve in terms of G and V for various levels of martini

consumption.
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The recent economic 1 has led many economists to predict another
great depression. Governments across the globe are making 2 - toavoid
double-figure increases in unemployment. Their measures include ‘bail-out’ plans and
largescale - 3 innew industries. Many environmentalists have taken this
crisis as an opportunity to 4 greener global industries. Isolationist
policies have been generally avoided, although several superpowers have used the
global situation to rethink their 5 on foreign imports. Some leaders have
even called fora __6 restructuring of world economic systems, Economists
and world leadérs alike have predicted lengthy 7 .

A expansion B.decrease C. -;lovmtum D. movement
. A.money B.savings C.efforts D.excuses

A. investment B. fines C. advertising D. recovery

. A.insist B.promote C.distract D.call

. A.dependency B.hostility C.trade D.sale

. A, different B.radical C.rational D.new

. A, alterations B.growth C.prosperity D. recessions '
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The recent 8 in the United States saw the first African American
male take the office of President. The senator from Illinois won 9 . His
victory was also 10 well overseas. His 11 to bring ‘change’
to Washington appealed to voters tired with the so-called politics of special interests.
However, corruption scandals in his home state and the global economic crisis have
12 his first weeks in office. Nevertheless, record numbers 13 in
the nation’s capitai to 14 President Obama’s inauguration in January
2009. He is currently experiencing a honeymoon ___ 15 with the media, world
leaders, and the public at large.
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8.
9.

10.
11.
12.
13

A.victory B.election C.competition. - D. selection

A. disastrously B. enthusiastically C.comfortably D. rapidly
A.achieved B.received C.criticized D. described
A.advice B.comment C.promise D.refusal

A. destroyed B. overshadowed C.improved D.won
A.left B.increased C.announced D. gathered

14, A. witness B. fight C.challenge D.employ

15.

1.

=

A.life B.change C.period D.year
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In the old times, tales were told differently in cottages than they were in castles. In
the palace, story tellers or minstrels were summoned to tell grand tales of heroes
who made great contributions to the nation. Beowulf and King Arthur were
featured in such stories. In the cottages, tales were told about simple folks,
including farmers, woodcutters, and millers. Frequently, stories centered on the
theme of a poor peasant who outwitted an evil with daring deeds and thus won the
hand of a princess.

What does ‘Renaissance Period’ mean? Western civilization was born from the
cuitures of ancient Greece and Rome. After the fall of the Roman Empire,

European civilizations fell into a period of digression. Much of the knowledge that
had been established in the ancient worlds of Greece and Rome was lost. Europe
fell into chaos. Later, historians would name this era, “The Dark Age.” Around 1400,
western civilization gradually made a comeback. Art, literature, and philosophy,
among others, were restored. Such an era was called the Renaissance petiod. -



